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QUESTION 1

You create two resource plans, one for data warehouse loading jobs at night and the other for application 

jobs at day time. You want the resource plans to activate automatically so that the resource allocation is 

optimum as desired by the activity. 

How would you achieve this? 

A. Implement job classes 

B. Implement Scheduler windows 

C. Implement the mapping rule for the consumer groups 

D. Set the SWITCH_TIME resource plan directive for both the resource plans 

Correct Answer: B 

 

QUESTION 2

You are in the middle of a transaction updating a very important table. The machine on which a database was running
reboots because of power outage. This caused a database instance failure. 

Which statement is true in this situation? 

A. The online redo log files and archived redo log files are required to accomplish the recovery 

B. The uncommitted transaction will be committed at the next startup of the database instance 

C. The uncommitted transaction is rolled back automatically at the next opening of the database 

D. The DBA has to perform the recovery on the database to recover the uncommitted transaction 

Correct Answer: C 

 

QUESTION 3

Which two statements are correct about database transportation? (Choose two.) 

A. The source and target platforms must be the same 

B. Redo logs, control files and temp files are also transported 

C. The transported database must have the same database identifier (DBID) as the source database and cannot be
changed 

D. The COMPATIBLE parameter must be set to 10.0.0.0 or higher and the database must be opened in readonly mode
before being transported 
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E. Recovery Manager (RMAN) is used to convert the necessary data files of the database if the target platform is
different and has different endian format 

Correct Answer: DE 

 

QUESTION 4

The DB_BLOCK_CHECKING parameter is set to FALSE. 

What level of block checking will be performed? 

A. The Oracle database will not perform block checking for any of the data blocks. 

B. The Oracle database will perform block checking for the default permanent tablespace only. 

C. The Oracle database will perform block checking for the data blocks in all user tablespaces. 

D. The Oracle database will perform block checking for the data blocks in the SYSTEM tablespace only. 

E. The Oracle database will perform block checking for the data blocks in the SYSTEM and SYSAUX tablespaces. 

Correct Answer: D 

 

QUESTION 5

Note the output of the following query: 

SQL> SELECTflashback_archive_name,status FROM dba_flashback_archive; 

FLASHBACK_ARCHIVE_NAMESTATUS 

-------------------------------------------------------------- FLA1 

You executed the following command to enable Flashback Data Archive on the EXCHANGE_RATE table: 

ALTERTABLEexchange_rateFLASHBACK ARCHIVE; 

What is the outcome of this command? 

A. The table uses the default Flashback Data Archive. 

B. The Flashback Data Archive is created in the SYSAUX tablespace. 

C. The Flashback Data Archive is created in the same tablespace where the tables are stored. 

D. The command generates an error because no Flashback Data Archive name is specified and there is no default
Flashback Data Archive. 

Correct Answer: A 
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